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OR (3121aT)

Write a program in C to find the largest value in array.

UPh C NI gRT O A 3ifreas a4 fHrared |

Write a program to find the largest of three numbers.

8
Uh C Y™ gRT 3 G=AT H 9T a1 |

OR (3121aT)

Write C program for multiplication of two martices.

Uh C UIUTH §RT 318 &I [Ohel oATd b |

Explain the arithmetic, relational , logical and

assignment operator in C language.

c wraT ¥ PR, Gefea, drofiee vq
TS IH T JTURCR ) AT DY |

0T3003 00303

2019(0dd) Old Syllabus

Time : 3Hrs. Sem. 111
CPTC
Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |

Answer all Five questions from Group C, each question

carries 8§ marks.

7u-C & wft ufg 9ol & SR <, UAS U & 99 8 HF 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |

P.T.O
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OR (3121d)

Explain the switch statement.

g Wedc & arar oY |

5. Write a small code for call by value in C language.

4
CHNT ¥ Pid—a8—dx] & BicT dis fod |

OR (3721d)

What is recursion? Explain with example.

Rezfa a1 2?2 ST & 910 9drv |

6. Differentiate between array and variable?

W vq dNRT & 3far 9dIv |

0T3003

(i)

(iii)

(iii)

(iv)

3

CHINT & SFd I 87
(31) = Yo wifefw

(@) TEHa IS

(@) sfra R

(]) ®wasr

C language developed at:

(a) AT & T Bell lab in 1970

(b) At & T Bell lab in 1972

(c) Sum Microsystem in 1973

(d) Cambridge University in 1972

C 91T S8 U 41 AT

(31) Todl s & dd <9 1970
(@) Todlo Ts & dd @4, 1972
(W) a9 ArgHIRRTH 1973

(]) srafast gFrawdd 1972

C was primarily developed as:
(a) System programing language
(b) General purpose language
(c) Data processing language

(d) None of the above

00303
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(xx)  “Const” ®T AT CH ... @ feorg (vi) CYTUT ¥ HIF AT BIT G BIdTl 87
2:)"312; (31) start ()
@) Prafor (@) clrser ()
GIERSGNE () getch ()
(@) 379 ¥ ®Ig LN (2) main ()

(vii)  Which of the following is not a correct
variable type?
(a) Float
(b) Real
(c) Int
(d) Char

(vii) 399 | DI UPH Bl SIel TI3Y 8] 287

(31) Float
(@) Real
GROUPB (&) Int

(%) Char

Answer all Five Questions.
4x5=20

) 4T9 Yo+l @ SR © (viii) By default a function returns a value of type:

(a) Int
2. Define algorithm and flow chart. (b) Char

4 (¢) Void
FMREH ¢d Fellare o1 gRATRT & | (d) None of these
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(xvi)

(xvii)

(xvii)

(xviii)

10 0T3003

Clrser () @ @ fog &I A1 8%
BIgd YART gl 27

(31) Stdio.h

(9) Conio .h

(|) Math .h

(]) Iostream. h

Format identifier for character data type is:
(a)%c
(b) % d
(c)%u
(d) % x

PRI STel I39 &I Bric T 2 |
(31) %c
@) %d
(®|) %u
() %x

Which one is not valid identifier:
(a) -345

(b) 3 45

(c) X 345

(d) None of these

0T3003

x)

(xi)

(xi)

(xii)

7 00303

99 4 ®I9 Uep Rolas @lds -2 27
(31) Auto

() Main

(®|) Case

(%) Register

Select the odd one out with respect to
type?

(a) Char

(b) Float

(c) Int

(d) Long

T ¥ v & gen |
(31) Char

(9) Float

(|) Int

() Long

What is the output of the following expression?

5+3%2%10-8%6
(a) -37
(b) -42
(c) -32
(d) -28
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10.

11.

OR (3121a1)

Discuss all data types in detail.

Y STeT ysR &1 favga aarer & |

What is structure ? Explain the syntax of structure

declaration with example in C language.

TR FT 87 IgdFaR & =HINUT &I a9
IeTeRvT gfed e & |

OR(3721dT)
Explain any eight library functions of C- language.

fr=2Y e Tsd BHIA B ATAT BN |

Differentiate between while and do while construct

with example.
qIsel U4 S—disd H 3fAX Ia1¢ Y9 Il
fY IHsn¥ |

P.T.O
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10.

11.

OR (3121a1)

Discuss all data types in detail.

Hl STel yaR &1 favga aarer & |

What is structure ? Explain the syntax of structure

declaration with example in C language.

TR FT 82 IgdFaR & =HINUT &I a9
IeTevvT afed e & |

OR (372rd)
Explain any eight library functions of C- language.

fp=2) 3rme TS BHIA B ARAT B |

Differentiate between while and do while construct

with example.
qIsel Ud S—disd H 3fAX Ia1¢ Y9 Il
T gH3y |

P.T.O
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